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PART A: Vocabulary

Direr_:riﬂns: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

The book was ---—----- by a panel of experts, working in conjunction with the publisher.
1) revealed ~ 2) compiled 3) intervened 4) attributed
2- In Canada, drug users belong to high-risk insurance -------—- : |
1) entities 2) features 3) categories 4) structures
3-  The victim was able to give the police an -—------— description of her attacker.
1) accurate 2) ultimate | 3) identical - 4) equivalent
4-  The government passed a law to promote the ———---- of blacks into white South African
sociefy. . .
1) integration 2) foundation 3) coordination 4) adaptation
5-  Small businesses often have great difficulty in --—-—--- credit from banks.
1) detecting 2) obtaining 3) pursuing 4) depositing
6- Feminists say that the book was written from a male —---——- -
1) objective 2) inspection 3) perspective 4) presumption
7-  Violence is just one of the many problems ------- —- in city life.
1) explicit | 2) empirical 3) available 4) inherent
8- Legal requirements state that working hours must not -—----—-- 42 bours a week.
- 1) assign 2) exceed : 3) utilize ' 4) undertake
9- The Highways Department is responsible for the comstruction and ------- of bridges and
roads. |
1) equipment 2) adjustment 3) manipulation 4) maintenance
10- Maxwell’s responsibilities -—----— yours, so you will be sharing some of the work.
1) overlap - 2) affect 3) identify 4) coincide
1— - — = — — SR — —_— —— !
PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or (4)

Lbesr fits each space. Then mark the correct choice on your answer sheet.

Since water is the basis of life, (11) ---------- the greater part of the tissues of all living things, the
crucial problem of desert animals is to survive in a world (12) ---------- sources of flowing water are
rare. And sincé man’s inexorable necessity {(13) ---------- large quantities of water at frequent
intervals, (14) --------- comprehend that many creatures of the desert pass their entire lives (15) ----
------ a single drop.

11- 1) composes - 2) composing 3) it composes 4) that composing

12- 1) which 2) that 3) there 4) where

13- 1) is 1o absorb 2) of absorbing 3) that is to absorb 4) is absorbing

14- 1) scarcely he can 2) he scarce can 3) he can scarcely 4) scarce can he

15- 1) for 2) from 3) upon 4 without
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17.

18.

19.

Part C. Reading Comprehension

Directions: Read the following two passages and choose the best choice (1), (2), (3), or (4). Then
mark in on your answer sheet.

PASSAGE [

In the environmental discourse, ‘sustainable’ is
often used as shorthand for longer and more precise
phrases such as ‘ecologically sustainable’ or ‘environ-
mentally sustainable’. It is only within the second
half of the twentieth century that humanity has
come to fully understand that its continued existence
depends upon a'complex web of natural processes.
The capacity of these systems to support life is finite

“and indeed may be diminished by many of the.
demands placed upon them. Human activities may
be considered ‘ecologically sustainable’ if they do not
reduce the capacity of natural systems to support life.
They are ‘ecologically unsustainable* if they cannot
be continued over the long term without threatening

the very systems which make life possible.

Which of the following is correct about an “ecologically sustainable human activity”?
1) It can not persist over long periods of times

2) It does not intimidate the systems that make life possible

3) It reduces the capacity of natural processes that support life

4) all of the above

Which of the following is not correct about “natural processes”?

1) the natural systems boundlessly support man’s life

2) natural processes consist of an intricate network

3) unsustainable activities may threaten these systems

4) claims place upon natural processes reduces their capacity to support life

Which of the Following is not correct?

1) man’s existence has depended on natural processes only within the second half of the 20th
century

2) By sustainable we usually mean phrases like ecologically or environmentally sustainable
3) Man has become to completely comprehend his dependency on natural processes since about 50
years ago

4) man’s life depends on a complicated web of natural processes

What is the meaning of “environmental discourse”?

1) problems related to human — made environments

2) debates on natural and human- made environments

3) i1ssues on natural environments .

4) environmental thcories Y
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PASSAGE II :

The city as a living environment must continue to develop and grow. As in
Cannigia’s paradigm of the leading type being introduced on the periphery and
gradually penetrating the existing, can;emﬁc}ra‘_ry architecture-and contemporary
styles must also be permitted into the development of the historic envirenment.
However, it is a high-quality contemporary rather than replica pastiche architecture
which is clearly a new link in the chain and the best way to avoid a static historic
image. It is often the case that grand and high-quality architecture of a past period
was built at a time of affluence and attracted well-known designers and builders,
whereas the present-day situation may be one of decline where cheap solutions are
more likely to be sought (Worksett 1978). Moreover, it has been this appearance
of poor-quality modern buildings in the past that has increased the pressures for
preservation and the refusal of the new. The question of contemporary architecture
in historic settings is one of quality. The control of aesthetic quality is a much
debated issue of differing opinions, one of commissioner, planner and designer
and decision makers in the urban environment. Sensitive yet celebratory additions
to old towns are called for, simple, truthful and in harmony (Warren 1998).

Which of the following is correct?
1) Modern architecture should be introduced promptly to historic environments

2) Modermn buildings were not accepted because of the pressures for preservation

3) Permitting high quality contemporary styles into development of historic environments, helps
them become dynamic

4) Architecture of the past was built at a time when designs were well-known and in a state of

1%

22.

3.

porerty

What does Replica pastiche architecture mean?
1) high quality contemporary architecture

2) high quality architecture of the past

3} a duplicate of architecture from historic buildings
4) a duplicate of architecture from different sources
What is a good synonym for “paradigm”™?

1) pattern 2) debate 3) study 4} issue

What is the main them of this text? | |

1) control of aesthetic quality 2) high- quality architecture of the past

3) poor-quality architecture of the past 4) engagement of old and new architecture
.
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What is the meaning of renewal in :

“Much of the concentration on landscape and societual renewal has focused on urban areas”?
1) repair 2) revival 3) growth 4) development
What is the meaning of “ecocentric ethics”?

1) Eco-socialism

2) stewardship of Nature for human use

3) Ecosystems and the biosphere have moral standing

4) Members of the biotic community have moral standing

The study of effects of pollution on the population is currently -- —----great inferest among
scientists.
1) generating 2) evaluating 3) monitoring 4) estimating

From a global perspective, cities increasingly influence the environment, through
coastal pollution and climate change.

1) regularization 2) ecosystems depletion

3) capacity building 4) natural ecosystems

Man- made environment, whether it consists of buildings, monuments or different landscapes,
is considered as a part of the environment to be protected against

1) integration 2) organization 3) consumption 4) deterioration
Environmental decisions in the domestic field, as well as at the international level are not
always by industrialists, farmers, foresters and the investors who fund their
activities

1) lobbyed 2) welcomed 3) acceptance 4) well-knew

Most of the major environmental rules were triggered by public awareness which then —-------
governments to adopt appropriate measures.

1) force 2) cooperate 3) pressured 4) recognized

¥
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